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1101[XK1E &E 35 350 0 350 10 0 0 0 1512 0 972
EE 14 210 0 210 15 0 0 0 1080 0 756
GhH 49 560 0 560
1103[ 35 mE 20 200 0 200 10 0 0 0 3672 0 1836
GhH 20 200 0 200
1113|FEAS (&D) 133 1330 0 1330
RAIEES GD 4 40 0 40
1141|5848 mE 8 40 0 40 5 0 0 0 3240 0 2160
=) 2 20 0 20 10 0 0 0 1944 0 1728
& 10 60 0 60
1201|H % T 20 300 0 300 15 0 0 0 0 4104 0
& 75 1125 0 1125
1203[F ¥Ry [EH 155 1550 0 1550 10 0 0 0 2916 0 2376
B30 62 930 0 930 15 0 0 0 0 1998 0
RE 77 770 0 770 10 0 0 0 2592 0 1296
e/ 25 250 0 250 10 0 0 0 0 2484 0
(&) 449 5450 0 5450
1204|G7R—)L | ERE 5 50 0 50 10 0 0 0 0 2160 0
(&) 5 50 0 50
1205|F5NnAE [EE 540 216 216 0 0.4 292 0 119 0 0 0
#mE 8 32 0 32 4 0 0 0 0 2808 0
12 hel 480 96 0 96 0.2 0 0 0 119 0 108
(&) 1028 344 216 128
1207| B & EE 600 60 60 0 0.1 0 108 0 0 0 0
(&) 600 60 60 0
1209| B & B 5 15 0 15 3 0 0 0 0 2268 0
(&) 5 15 0 15
1223| &% EE 700 210 210 0 0.3 146 0 103 0 0 0
(&) 700 210 210 0
1301[#aF S 23 46 0 46 2 0 0 0 1134 0 918
=0 800 240 0 240 0.3 0 0 0 124 0 119
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=0 32 160 0 160 5 0 0 0 0 1620 0
Eh 915 476 0 476
1311[F<F EES 60 240 0 240 4 0 0 0 1836 0 1728
Eh 79 269 0 269
1321 [ =) 96 480 0 480 5 0 0 0 2700 0 2052
=0 60 300 0 300 5 0 0 0 2484 0 2052
=i 30 150 0 150 5 0 0 0 2484 0 2268
Eh 186 930 0 930
1331 [MFBe (=2 —D—FU| 25 250 0 250 10 0 0 0 0 3024 0
Eh 25 250 0 250
13B1E—<>  [= 300 39 0 39 0.13 0 0 0 0 124 0
Eh 300 39 0 39
1353[2 Tk =& 90 9 0 9 0.1 0 0 0 0 238 0
Gh 90 9 0 9
1501 | H 2% S 7 35 0 35 5 0 0 0 1404 0 864
Gh 7 35 0 35
1521 | B % BiE 4 40 0 40 10 0 0 0 5724 0 3672
Gh 4 40 0 40
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1541 [E& 100 1000 0 1000 10 0 0 0 0 1512 0
96 1920 0 1920 20 0 0 0 0 3024 0
GhH 196 2920 0 2920
1603+ L) — 7 70 0 70 10 0 0 0 3888 0 3672
(&) 7 70 0 70
1607|h1257 |[#E 3 18 0 18 6 0 0 0 0 2592 0
GhH 3 18 0 18
1609[7 0wl [FJi 15 90 0 90 6 0 0 0 5724 0 5400
GhH 15 90 0 90
1611[LAR 371 2 10 0 10 5 0 0 0 0 2592 0
=) 5 50 0 50 10 0 0 0 4104 0 3780
ED 7 60 0 60
1612 =L &R GhH 1 5 0 5
1627[3=Fr<F__ [FJI 60 12 0 12 0.2 0 0 0 0 238 0
S 60 180 0 180 3 0 0 0 2700 0 2592
[E)) 197 216 0 216
1705| &= = E 360 29 0 29 0.08 0 0 0 0 108 0
=5 6 24 0 24 4 0 0 0 0 5616 0
(&) 370 69 0 69
1803 | HEE mE 150 15 0 15 0.1 0 0 0 0 141 0
#mE 30 6 0 6 0.2 0 0 0 0 260 0
Eh 900 93 0 93
1807 |#B f=554 150 15 0 15 0.1 0 0 0 0 49 0
=% 30 5 0 5 0.15 0 0 0 0 102 0
=% 1800 360 0 360 0.2 0 0 0 0 76 0
Eh 1980 380 0 380
1809[L&L EH 350 35 0 35 0.1 0 0 0 0 67 0
EF 450 90 0 90 0.2 0 0 0 94 0 92
(&) 800 125 0 125
* S FAET * 17177 26784 972 25812
2131|&# =i 52 208 0 208 4 0 0 0 0 2214 0
Eh 52 208 0 208
2139|FaRy EE/ T 48 480 0 480 10 0 0 0 0 3888 0
[&0) 48 480 0 480
2221|E+ = 26 260 0 260 10 0 0 0 0 4320 0
Eh 26 260 0 260
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